ERRATA

Python Scripts for Rhythmic Partitioning Analysis (Marcos da Silva Sampaio and
Pauxy Gentil-Nunes)

e Page 18: Notice the difference between the two emphasized excerpts below:

Instead of:

“For example, a four-part ensemble (like a string quartet or a four-voice choir) has 11 settings in its
lexical-set: L = {(1),(2),(1 + 1),(3),(1 +2),(1 + 1 + 1),(4),(1 +3),(2+2),(1 +1 +1+2),(1 +1
+1+ 1)}

Read:

“For example, a four-part ensemble (like a string quartet or a four-voice choir) has 11 settings in its
lexical-set: L = {(1),(2),(1 + 1),(3),(1 + 2),(1 + 1 + 1),(4),(1 +3),(2+2),1+1+2),1+1+1
+ 1)}

e Page 19: Consider the following corrected version of Figure 1(b). Notice that on the paper, both

vectors on the main diagonal direction are denoted with +-c.
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